
 E202 WELDING CART SET UP INSTRUCTIONS  

Step 1 Unpack cart and perform installations as indicated by arrows. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Step 2 Attach wire bracket to top shelf. 

 

 

 

 

 

 

Step 3 Attach water tank brackets to water tank. 

 

 

 

 

 

 

 

 

 

Step 4 Place water tank on bottom base and secure it in place. 

 

 

 

 

 

 

 

 

 

 

 

 

 

Gas cylinder bracket 

Bottom shelf 

Use four M8 screws 

for installation 

Use four M4 screws 

for installation. 

 

Base for wire 

 

Wire bracket 

 

 

Water tank 

 

Water tank bracket 

 
Use four M5 screws 

for fastening. 

 

Top shelf 

Use M4 screws for 

fastening. 

 

Cart 

Water tank 

Use four M5 screws 

for securing. 



Step 5 Top water tank with welder, have the welder aligned and secured. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Step 6 Attach support brackets to welder. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Water tank 

Cart 

Welder 

L/R side bracket 

Welder 

 
L/R side bracket (2 pcs) 

Use eight M5 screws 

for securing. 

 

 

Use eight M5 screws 

for fastening. 

M5 screws are screws used on welder. Repeat 

installations on the other side. 

 

Support bracket (2 pcs) 

Unscrew the four M5 screws 

first, attach the brackets in 

place and tighten the screws. 



Step 7 Attach top shelf to cart and complete full assembly. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Top shelf 

Use four M5 screws for 

fastening. 

Use eight M8 screws for 

fastening. 


